HEN

gboboobobooobooboooboobooooboooobooobooobooono
e00000L,OnxnOOOODODO

go0o sSsooboooooooooo-boood
ea-beS (a,bes)

e UD00OUa-(b-c)=(a-b)-c (cebl)
e J00e0a-e=e-a=a (ecl)

e 00 e '0a-at=ata=e (atef)

O000000000000000000 (group) 000000 M-000 (multiplication, composition) 00000
000o000dDoD0o0ooooooooooooooDooognD S00oo Sooooooooooooooooo
Oa-b=b-a0000 (commutative, abelian)Ja-b#b-a 00000 (non-commutative, non-abelian) 0 0 O
0000000 -a=a?00000000000000 (a-b)2=(a-b)-(a-b)#4¢>- 20000000000
g000@-00d00fd«b0D000D00D0O0ODOO0ODOODO0O0OO0ODOODOODO0O0ODOODOODO1O000OO0DOO0O
O0 (ring) 00 (DO0DDOO0OO0CODOOOODOOOUOOOOOOOOO)O
gobooboooboooboobooooobooooooooboobooboo0oobooooooboooobooOoon
000 (finite group) 0D OO0 OOOO

000000 e=100000000000000000 @, b00000000 e=100000000000O

ate=a, at+al=e

O0000e=0,e¢!'=-0000000000000000000000000000OO0OO0 (additive

group) 00O 000OOO
00000000 10000oodoe, fO0O00O0O

e=e-f=f

0000000 (f00D0000000O0DOOODOe-f=¢, e000000e-f=f/)00000«0000 a0
good

e=a-a
b=>b-(a-a %)
=(b-a)-a?
=e-a !

00000100000000000e-b0000b7 Y- 000000000000



(a-b)- b aHN=a-b-0 - aH)=a-(b-bH-a))=a-a?!

Il
)

0000000(-b)'=("e!)000
0000000000000000000

e OODOOODOO
goo0oooooopooogOoooodoooooUooooDoooOOon e,b,c0dnOO

at+b=c
a+(b+c)=(a+b)+c
a+0=a

a+(—a)=0

oobooOoobOoooobooooooobooboooobooboooboooboobooooooboooboooonog
gooo

e 10000

UnxnO00000O0O0O0O0O0O0COOOODOOOODOOODOOODOOOCOODOOOOOOODOOOOO
00 (general linear group) 0O OOOGL(n) 0000000000 0O0O0OO ROOODO COODOOOOO
0 GL(n,R),GL(n,C)00000000 VOODO GL(n,V)0DO0OOOO0O

e 10O
Oeaqb(ed000)00000O0OOO0

a-a=b,a-b=e,b-a=e,b-b=a

gbooboobooooboobooboo

00000000000 00U00O0000 {e,a,b} 00000000 (DOOOODO 1O000D0OOOOOO)O
el0J0000«000OO0WOOUOODDOOUOOOODOOOOOO (2000000000000 ODOO0OOO
O00)0000a0e-a0b0000a-a-a=b-a=e00e000000000000O0O0 00000
O0«0000000D0000000000O0 (generator) 1000000

O0»000000000e¢00000e,a,a?...,a"=e0000000000 (cyclic group) DO OO0
00Z,00000000000 e,a,b=0a%a*>=e000 Z3={e,a,0>} 00023000 «000000
OexpUOQOOQOOOO



— e271'1/3 2 _ 6471'1/3 3 _ e67r7,/3 — 27 — 1

a , a , a e

00000000Z, 00000000 27/ (k=0,1,2,...,n—1)000

oono
0000000000041,2,3}0000010202030301000000

1 2 3
2 31

000o0oooo{1,2,3}0000000

obooennonOd

1 2 3 1 2 3 1 2
a-b= . =
<231><312> (12

000000000000000000 {1,2,3)0000 4000000000 «00000000000
00000000000 a=P(2,3,1)000000000000000000000000000000
(c,d, 0000 ¢,d, fla,b0000 be)00000000

w w
N——

a-b:a(P(3,1,2)):<1 ; §>:e

a-c=a(P(1,3,2)) = (; i §>:f

000000oooO00oo0oe00DO0OOOOOOOODODO{L,2,...,n,}00000000000000 (sym-
metry group) 0000000

O (xlxg...xn)DDDDDDD r1 O a0z 0 x30...0x, O x1DDDDDDDDD(x)D x0000a0
000000000000 (z122...2,) 0000000000 (zexszr), (xszize) O (x12003) DO OO0DO0O
O00oooooooon



12 3
(231):<2 3 1)
1 2 3
(132):<3 1 2)

1 2 3 4

(19)@)) = <3 2 4)

ugbooabooo

e JODODO

000000000ooo0o0O A,,4,A;00000000000COCOOOOOO0OOCOCOOODODOOOO
O000000000000000e=(A1,45,43)000

a = (AB,A17A2) y (12 =a-a= (AQ,Ag,Al) s a3 =a-a-a= (Al,AQ,Ag) =€

a0000O0D0O 120000000000000000200000000

b= (A1,A3,A2), c=(A3,42,41), d=(Az, A1, A3s)

000000 {a,a%a®=¢b,c,dl 0000000000000000000000O0

=b-b=e (b7!=0)
CcC = (Ag,AQ,Al) = b((A3,A1,A2)) = b-a

d: (AQ,A17A3) = b((AQ,Ad,A])) = b-a2
0000c¢d0000D0000O{e,a,a,a®=¢,b,b>=¢,b-a,b-¢’} 000000000
a'a=a""((A3, A1, A2)) = (A1, A2, A3) = e
b_l 'b:b_l((A1)A37A2}) = (A13A23A3) =e€
od

b=t a-b=0b""((Az, A1, A3)) = (A2, A3, A1) = a "

goog



a-b-a =b-ata-a=b-a

000000000b-a,b-a2000000000

gogobbooooboooobboooobboooobbbooooonbbooobDbbooob o
0000000000000 (dihedral group) 000 0000000000000 2n000{a,a?,...,a" =
e,b,b> =e,b-a,b-a%,....;b-a" 1} (b1 a-b=0a"HODODODOODODOO

0000000000000000 G, KOOOO00O0O000000-0,00000000g¢1,92 € G, ki1,ks€ KO
00000000 GxKOOO (g1,k),(g2,k2) D0 0+00

(91, k1) * (92, k2) = (91 - g2, k1 0 k2)

O00000GxKOOOOOOOOg-92,k0ke 00000000000 OGxKOOOODODOOOOOOO
0000000000000000GU KO{1,-1}000000000Gx KO

(L,1), (1,-1), (-1,1), (—-1,-1)

gboooooboooooon

Ly @G-y =LYy (=L-D
(1,1) Ly - L) (=L-1)
(1,-1) (1,-1) (1,1) (-1,-1) (-1,1)
(-1,1) | (-1,1) (-1,-1) (L1)  (1,-1)
(-1,-1) | (-1,-1) (-1,1)  (1,-1) (1,1

)

1
1

)

(L)H)ODODODOUOOOUOODOOODUOOoOOOooooOOoUooOooooo (oooooooo)o
00o00o00D0o0o0O0oo00 GOO000000DO0 HOOOOGoOOODOooDoo0oooooDHO Gooo
O (subgroup) 00O OO0O0OODOHOODODOOOOOg1,9o€GOO0OO g1-go0€ HOO ¢h,90 € HOOOODO
OO000000000g;-g20

gl-gzzh (hEH)

g1="h-gy'

HOOOOOOg e HOO g,'e HOO g1 =h-¢g,' € HOOODOOOOOOOOOg e HOO go=g;"-he H
D000000000000¢g-go € HOO g1,90 € HOOO
O000000000D0000 GUOODOO0 HOOOOh e HOOOO geGOO0g h; (i=1,2,...,n)
000000000000 (left coset)Oh;-g00000 (right coset) D00 0000000000000 O0OO
D00000000000000 (normal subgroup) 0000000000000 0OOg=10000 HO
0O00O000ooon
0GUOODHODODOOOOOOO0OO0000000000000000d {g-h4,...,9-h,}0 gHOODO
00 {h1-g,...,hn-9}0 HgOOOOOOOOOOOOD geGUOOO HO gHg ' O0O0DO0O0OD0OO0O



O00000000 ¢,¢"'00000000000000000000GOOOOD HOOOOOOOOOgeG
OheHOg-h-gl=g¢g-¢g-l-h=h00000000000000000000
000000000000000000000000000000000000000000000000000
0200000000000000000 (simple group) 0000000
0ONOGOOOOODODOOOOO000O g,90€GOO0000000O00000O0O

(1N)(92N) = 192NN = g1g2N (9N = Nyg)

NOOOOOONDODODDODODOD NOODODODOOg OODDODDO0OO0D ¢.0000000000 ¢,-¢go0000
00000000000000 NOOOOOOOOODOOO0O (quotient group) 0100000 (DOODOO0O
0)000D0 G/NODODODODDO

0000000000000 000000000000000000O0g¢,,g2€¢90000NODODDOOwDODO0O
uNODODOOOODOuwt-goeNODODOO

ulN =uNN & u-u_l-g1=gl

0000000w! g e NOOOOOOOOOOOOOO vt g,eNOOgNOuNOOOOOOOOOO
00gigeNO woNOODODOODOOO (u-v)"'-(q1-92) eNOODODODOOOOODODOO

(u.v)_l.(gl.g2):v cu- “ g1 g2

=v g (95" ng2)

neNOOOOOOOOO gy  n-goe NOODO(u-v)"!(g1-92) e NOOOOOOOOOOOOOODOOOD
oooobooobooboobuoobuoobooboboboo
0000 (conjugacy class) 000 0000a,be GOOUOOgeGOOOO a,b0

0000000000 a0O00O (conjugate) 10000000 GOOOOOOOO «a00O0O (conjugacy classs)
000000GOOO0 HOOO gHg '={¢g-h-g"}|he H}O HOODOOOOO

a gHg_1D GU000000000000000 GUUOOO0 HOO h; € H (i=1,2,...,n)000 A, =
g-hi-g ! (geG)ODOOODOOO H/DDDDDDDDDDh;-h;-GH’DDDDDDDhi~hj:thHDDD

Wyl =(g-hi-g7")-(g-hj-g)=g-hi-hj-g " =g-hy-g ' €H

gboooboooooobo



DDDDDh;leHDDD H'00000 h;‘leH’DDDDDDDDDDDD HOOOOOOOoOoOoOOoO H'O
GO0000000DooOoO0OoooooOoopoooboooooo

H ={hj| hi=g-hi-g~" g€G, h; € H}

00000000 /0 G0000000000
000000000000 2000 Dg={e,a,a®,a®=e,b,p>=e,b-a,b-a¢>} 0000000000000

be=b-b*=b>-b=e-b

000000000000e000 g te-g0e00e00000 {e}000a0D

0000000 g -a-g0O

000e00000 {a,e*}000b00

alb=@0"1-a-b)-b=b-a

good

al-b-a=(b-a)-a=b-a®

(@) b-a>=a-(b-a)-a=b-a
(b-a)t-b-(b-a)=(at-bY)-b-(b-a)=b-a®
(b-a®)tb-(b-a®)=(a-b"1)b-(b-a®)=a-b-a®>=b-a

b lb-b=0



0000000 {bb-a,b-a?}0000000Ds 00000 {e},{a,a},{b,b-a,b-a*} 000
000000000000000000000O00 (homomorphism) 00000000 GOODODGOODOOO
KOOOODO FODODOOOg,92€GOO0ODO

F(g1-92) = F(g1) o F(g2) (F(g1), F(g2) € K)

ooo0o0oO0fFO00O0OO0COOOOOOOO0 GUOOOOOO0 KOOOOOOOOooooooOo-o,0000
0000000GO0O0 ¢1-¢9o 000 FOOUODO KOOO kyoksy (k,ke e K)OOOUOOOOOOUODODO
ecGOOOOO

F(e)=F(e-e) = F(e)o F(e)

0000GOO000 KOODOO Fle)O0OOOOOeeGOOO e 00

F(e)=F(a-a ') =F(a)o F(a™ ")

0000eeGOO0 e 0 F(a!)=(F(a))~' 000 F(o) e KOOOOODOOOOOOOOO0O0O000OO
0000000000000000000000000 (0OD000o0O0000DoooO0oO0)Doooooooo
O00000000000000 (image) 0 KOOOOOOO

000000000000 (kernal)KerF O

KerFF={ge€ G| F(g) =ec K}

0000000000000 000KDODOODOOOO0 geGOO0O0O0O000O0O0 G, KOOOOD eOOOODO
000000000000

000000 GOO0O0000000000GOO000 e0d Fle)=eODO0OO KerFOODODOa€KerFOODO a™t
O Fa )= (F(a) t=el=e000 KeeFOOOODOa,be KerFOOOO

F(a-b)=F(a)oF(b)=coe=c¢

0000000000 a-beKerFOOOOOOOKerFO GOODODOODOODOODOODOgeGOOOOO
gl a-geKeeFOOOOOOODOOOgODODODO ¢ '0000F(¢7Y)=(F(g9)t0DO

0000g ! a-gecKaeFOOOOOOOKerFO GOOOO0 g ' a-geKeeFOOOOKerFO GOODOO
gooogd

0 KeFOOODO G/KeeFO FOO {ke K| k=F(g), gc G}0000000000000000OAD
G/KeerFOO F(9)e KOOOOOOOUOOODAQUOOUOOOOOUOOOOUOOOOOG/KerFOOOODO
gKerFOOUOOO g-gegKerF (¢geKerF)DOOUOOA(g-q)=F(¢) 0000 (D0)0g1=¢2-¢q00O0O0O0



A(g1-q) = F(g1) = F(92 - q) = F(g92) o F(q) = F(g2) ce = F(g2) = A(g2 - q)

oood

A(g1-q) 0 A(g2-q) = F(g1) o F(g2) = F(g1 - 92) = A((91 - 92) - 9)

0000gKerFOOOO ADDDOOOOOOOO0O0OA(g: -q)=A(ga-q)00000F(g1)=F(g2) 000

e=(F(g2)) " oF(g1) =F(95" 01)

DD[II:Ig2_1~glzeD[Igl-q:gg-qlil[l (00)H)OUDODDAOUDDOOOOUOOOG/KerFO FOOOOOOOO
00 G0000000000000O0DvVOooOoUooo(voovoooooo)oooo ¢0O

P91 - g2) = ¢(91)9(92)

000000000¢0 VODUOOD GOOO (representation)d V OO 00O (representation space) 0 00 O
O00g # g2 0 é(g1) # é(g2) (00D0DD0O0D00)00000000000 (faithful) 00000000
oboboooboobooooooooboooooooooooooooooooooooooooooboobOoobon
oo foOoo00oooovooooooooogooopooooooooooDoo0oooDoooOooboDbooo.g
gooobooon

0000000000000 0O000O000000000O000O00O0 1000 ¢(g)=10 (D0OO0OoOoOoO)O
00000 (trivial representation) 0 000000
gbooboboobooboboobobbooboobobooboobobbooboboobobonboa
0000000000000000000000000000RxnO000000 GL(n,C)0DOO0ODOODOOO
oooooooOo0ooooooDoOobOoO00oooooooDoObObO0o0g ¢o0OnOoO0OooooooDO VrPOO nd
00000 C000000TOO0000geGO0000000 I(g) € GL(n,C) O

I(g) = T(9)T "

000000nO GO0 GL(»,C) 0000000000000 OOO0O0OOODO0O0OOOOOO

(g1 - g2) = Td(g1 - 92)T "
= T(6(91)d(92))T~"
= T¢(g) T~ T (g2) T~
= II(g1)(g2)

oooooooooo
0000 <, >00000000000DOCQOO0OO0VODOOGOOOODO IOOOO

<I(g)v, (9w >=<v,w> (g€G, v,weV)



000000N00000000000000000000000000000D00000000000000 R
00000001000000000000I(z)=¢® (zxeR)O0D0DO00000000O
000000D000000000000000000 Dg ={e,a,a?,a®=e,b,b>=e,b-a,b-a?} 000000 Dg
000000012000000000000000003000000000 1200000 Dg0O0O000O0O0O
0000000000200000000000000000000000

000000003000000000000000 ej,eg,e30 e3d000 1200 (27/3) 0000000000
gbooooobooobo

2 2 1 V3
/ < P _ = Vo
e; = cos 3 e + sin 3 (=D 261+ 9 =5
e’ :—sin2—7re —|—c052—ﬂ-e :—ﬁe —le
2 3 372 2 127
e; = e3

0000000 ()0 (e1,e0,e3) 00000 3000000000

2r . 2« IERVE]
COS — Sln; 0 —5 —7 0
M(a) = | —sinZ" cosX 0o |= ﬁ 1 0
3 3 2 2
0 0 1 0 0
?00002000000 M(a-a)=1(a)l(e) 0000
LV
2 2
I(a®) =(a)l(a) = | V3 1
2 2
0 0 1

(a®) = H(a)l(a)ll(e) 0 3x 30000 0000000000000 00000000DOe, 00000
gooood

0 0
ne)y=|0 -1 0 |, 00 =1
0 0 1

I(b)II(a), I(0)[I(¢*) 0000 00000D00000000000000000000 10 DgO00 GL(3,R)
0000000000

00000000000 Dg={e,a,a? a®,a* =¢,b,0> =¢,b-a,b-a%b-a*} 0000000000000 200
0000000000000 e1,e.090000000000000002000000000

cos T sin T 0
5 5 1
A=1(a) = e 7| = ( )

—sin— cos— -1 0
2 2

e 000000 (Io02x20000)

10



Ooo009000000 ej,eo 0 AO0OOO

(e1,e2) = (ez,—e1) = (—e1,—e3) = (—ez,e1) = (e1,e2)

O0000BO (e1,e3) = (e1,—ex) 000000000

O000Ds00 GL(2,R) 0000000000
ovrooOCrooooogo l1ooo0o0oooo0o0oooooo0ooooooooDooooOoDOoOoOOoo
T"ooooooo

'(g) = T'6(g)T'" = T'T "\ To(g)T ' TT' " = T'T ' Ti(g)TT"*

00000000000000000GUO GL(n,C)0DODO ILII'O

IT'(g) = STI(g)S~*

0000000 S (rxnO0000)0000000000ILIYO00 (equivalence) 100000000000
0000000000000
00000000000¢0000000VO0O0OO00000000040000000WO000000000
0000000¢(g)=S4(¢)S~*000 VOO WOOOOOO SO0O000000¢,¢/ 000000000000
00000 V,WOOOOveV,weWHv000O000 ADwOOOO0O0OO0 BOOOSO w=Sv, B=SAS™?
oooo

Bw = SAS™'Sv = S(Av)

000000000 w0 BOOOOOOOOO BweWOOOOOO 0000000000 AveVOSO
00000000000000000000 w=5Sv0 A BOOOOOOOOOO0O0000000O0w (V)OO
w(W)O0OO Bw (W)OOOOOOw (V)OO Av (V)OO0 Bw (W)0DOOOO0O0OO0OO0O000O00000
oooooooon

0 DsO0 GL(2,R)0000 (1)0000000000 GL(2,C)00

11



gooobooboobooobooboo

A/2<01 01>7A/3<0i q>,A/412,B/212

goooobooooobooboooooboooooob TOo

1 (1 —i L1 {11
T_ﬂ<1 Z>T1ﬁ<zz>

~

oood

gart_ L1 i 0 1 11\ 1
201 g -1 0 io—i ) 2
S 1 0 11\ 1
201 0 —1 i o—i ) 2

goooobobooooob2000000booOooo
0000 (e1,e0) 0 ADDOUDDOOOOTOOOO0ODOOOODDOODOODDOOOOOOOO

o e Y_ L1 e
—e; 2\ 1 —e

_ 1 es +1eq

_\/i 62—i€1

00 (e1,e2) 0 T00000000DO0OO0OOOOOOOOOUOO A/0OU0OOOOOO

00000000000000000000000000 (4’0 AQ (eg,e2)00 (e2,—e;) 000000000
00)o
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00000000000000000000000 W,% 000000V, V,,...,V,000000000000
00 GOOOOO0OO0000O0VOOOONOVOOOOOO WoOOOweWOOO0O H(g)weW (g€ G)
000000WOO0O0000000000000

0M(g) (g€ G)O0 GL(n,V) 0D DO000000VO 2000000 W,V (inV, ={0))0000000
V=VehI100000O0O0O0O0OOOOOVOOOOO v0O V;,V,00000 vy,0,00000

V=111 + Vg

ogooovoooo v, oooooooooooo (VDDDD Viyoooo VQDDDDD)DDDDD v =
(U1,7)2):(1)1,0)-‘1-(07’02)DDDD|:|

1(g),112(g), D1(g), D2(¢) DO O 00000 OI(g1 - g2) = (g1)1I(g2) O O

(Hmym M%yﬁ>:<m@)DMﬂ><m@)DMﬁ>
Ds(g91-92) Ma(g1-g2) Ds(g1) Ha(g1) Ds(g2) Ma(g2)

000000vw,=0000 ;00 (1,000 I(g) 0000000

(m@ m@><m>_<m@m>_(m>

Ds(g9) a(g) 0 ) \ Da(g)vr |\

0000V, 00000000000 00I(g)v, €V,000000000000000000 (v =0)0Dy(g) =0
DDDDU{:Hl(g)mDDDDDDDDDDDILDVlDDD[IIZIDDDDD
DDDDDDDVDDDDHDDVDDDDDDDDDDDDDDDDDDDHDDD(reducible)DDDDD
DDDDDDDDDVDDDDDDDDDDDDDHDDDDDDDDDDDDDDDDDDDD(irreducible)
00000000000 000b0000O0b0000ooo00o0ooOobo0o0oooooooviovooooooono v

oboooovoooooooooom
gooooooobooon

~—

Ii(g) Di(g)
0 II>(g
goooo0oooooooooooooo
i(g) Di(9) vr | _ ( h(g)u Ii(g) Di(g) 0\ _ [ Dilg)v
0 Hg(g) 0 0 ’ 0 HQ(Q) (%] HQ(Q)UQ

000000V 000000000000V,0000000000
0V,V,00000000000D(g),Dx(9)0 0000

)22
0 I(g) v2 y(g)v2 0 Iy (g)va



II(g)v; € V1, lI(g)ve € Vo OOO O, I, O V1,V 000000000000000OII(¢)00000OOOO0O
00000000000 (completely reducible) 000 00000000000 WV,V,000000000 Iy,
0oooooooov=vieV,0OODO MIOOODOOOODODDODOOOODOOVOOOOODOO vi,Vo0000
V=Viel,0OOOO IO decomposable D00 O OOOO

oobooboooobooobobooobbOooobooobobooooOoooboooobooooooooboooobooooonoono
oooooooo
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